Student Name:

Find the sum of polynomials

(P2 +5p2+9p—6)+(-5p3—8p+1) =

. (=2p*+3p+9) + (4p* + 3p3 +p)

. (6% +2q* —21¢3+ 1) + (3q* — ¢®)

. (25 +3s+5)+ (5s3-7)

. (s+3)+(s?+65+9)

(3 +3x2+ 1)+ (-5x3+3x+4)

. (t2—6t+3)+ (—t>—9)

. (v*+5y2—3)+ (y3 —8y? + 4y + 12)

.(p*+3p*-8)+ (P> +9)

10. (4¢3 + 7t* + 3t) + (=2t* + 2t =5) =
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Student Name:

Answers

(P> +5p*+9p—6)+ (-5p3—8p+1) = —4p> +5p*+p -5

. (=2p*+3p +9) + (4p* + 3p + p) =2p*+3p3+4p+9

. (6g° +2¢*—21¢3+ 1)+ 3q*—q®) = 6q° +5q* —22¢°> +1

. (252 +3s+5)+ (5s3—=7) = 553 +2s*+3s—2

. (s+3)+(s?2+65+9) =s2+7s+12

(23 4+ 3x% + 1)+ (=5x3 4+ 3x + 4) =—4x3+3x*+3x+5

L (tP—6t+3)+(—t?-9)

45y —=3)+ (¥ -8y +4y+12)= y*+y> -3y +4y+9

.(p*+3p%2-8)+ (P> +9) =p*+p3+3p*+1

10. (4t3 + 7t + 3t) + (—2t>+2t—5) =4t3+5t> +5t—5
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